BREETRFOMSEREER CGEHREXLZDXFHENSDNDA) 1/3
REER : FR28FE881H (B) ~FrE28F8H31H (7k) (BN @ N 9LIb/kg)
=1 — = o B&ER | . BHERERE]| | . EHERRE
== | HTHY 5uE ERERS 88) | TIM3E | Thomiiz)y | BIM3T | (hyminar)
EES i 28U HANEET 170K A &HE 1.4 | ~&E 9.4
EES AV X  |BLTmZiEE] 26H (&) A& 10.5 | A% 8.8
3 B AV VX BB BT R 2H(N) | A& 10.1 | A%E 8.5
M EES AV VX BT HANEE] 23H(N)| AEHE 7.6 | ~MEH 6.3
5 |F% TAHY X IR 3HOK)| A &E 7.1 | ~&H 5.8
6 |Fx TAHY X BUFZEIHELL | 2BCN)| ~&E 1.1 | ~&E 9.0
[ EES THY X BRI h HF0HE] 168 (N) | A &HE 5.2 | A&H A
EES IANYX (Zn) [BRLLTZIEH] 3HOK)| A~ &E 8.3 | A&H 6.7
CIEES FT05 IR 58(&)| A~&E 10.6 | ~&E 8.5
EES FT05 ERLLH HANEHET 3HOK)| A~ &E 9.2 | A~&H 6.9
EES 57 8L = HET 26H0K)| A&RHE 5.1 | I&H 4.5
12 |Fx ARF+ BB Z A5 31B0K) | A &HE 10.3 | ~&E 8.2
EEES ARF+ BLUTFRE 128(&)|] ~&E 4.5 | A& 3.6
MEES ARF+ BT Fa T 3HOK)| A~ &E 8.1 | A&H 7.1
15 |Fx ARF+ ELHAEBIAKE [25HK) ] & 9.8 | A& 10.4
EES ARF+ 8L i REE 13E(H)] A &E 5.2 | I&H A
EES ARF+ FEmh 16BN A~ &E 11.0 | ~&E 9.5
FEES ARF+ FEmh 23B(N)| &HE 3.9 | I&H 3.2
19 ¥ ARF+ a2l [ 23HCN)] R~ i&E 6.4 | A& 5.9
I EES F N 8L LI PR BT A 25H(KR)| Ai&H 9.0 | A1&H 8.3
A EGES Faol L™ 4H(R)| At&aH 6.8 | A1&EH 5.8
22 |Hx Fa19U NSNS 158(8)] A~ &E 4.6 | A& 4.1
RN EES Fa1ol EIUHHENE E17E [ 31HOK) | AM&H 6.4 | AEEH 5.4
YA EES Fa1ol £81L T HA0 BT 1H((E)| %L 5.8 [ A1 4.9
25 |FE Fa1oU BLUHEXALETXFEA| 10B0K)| ~EE 10.0 | ~&E 8.0
26 |Hx 219U BUHEXALEIRER | 1HB)] R~ &L 3.6 | A& 3.1
YIREES 219U BLIHEALBIRE [ 10H0K) ] ~EE 8.6 | A& 7.0
28 |Hx Fa19U HAH 68(1H)| ~&E 5.5 | i&H 4.7
29 [Hx J—+ 8L ZHE ] 5H(E)] ~@E 8.6 | A& 7.0
30 [F=x J—+ IR 26H(£)| I~ M&HE 6.6 | A& 5.5
T EES J—+ IR 266 (£)| I M&HE 6.0 | & 5.1
Y ESES J—+ R Th A0 E] 23B(N)| F&HE 5.6 22.2 )
33 |F=x aNVF BB = HET 26H0K)| FEH 8.7 | A&H 7.3
A EES HHT Y X B LU I 26B0K)| F&HE 10.2 | ~&E 8.2
I EES HHT Y X ELHAHITAE [ 24H0K)] A &E 9.8 | A& 8.0
36 |Fx HHT Y X B80T HANEHET 12B(&)| ~&E 10.4 | ~&E 8.6
37 |F=x HYIYAE BT A REK 22H(B)| A& 6.3 | & 5.5
LI EES HPIVRY  [BUSAEXALRER| 5H(E)| FA&E 7.9 | A%&H 6.8
I EES JIRD BUmZEaRE [158(8)] ~&E 9.1 | *%&H 7.2
40 [Hx I A1 E KIWEF AT 2BON)| A &HE 9.0 | & 8.1
INIEES Jvr A1 E ST ZHE ] 1H(B)] ~&HE 10.2 | ~&E 8.1
IVREES I A1E ST ZHE ] 3H0K)|] ~@HE 10.2 | ~&E 7.9
43 |Hx I A1 E ST ZHE ] 12B(&)| ~&E 6.1 | & 5.2
AEES I A1 E ST ZHE ] 18H(R)| ~&HE 6.7 | A& 5.7
45 [Hx Jvr A1 E BB =SR] 3H0K)|] ~EHE 8.7 | A&H 6.3
46 [Hx I AM1E 8L/ \EH 266H(&)| I~ M&HE 4.6 | ~RHE 3.8
Y EGES JvHAE 8L = HET 18H(K)| A~&EH 5.3 | A~%H 4.6
EES T HA1E BLUAEXALEXFH| 128(&)] ~_&EH 7.9 | T%H 6.6
49 [Hx I AM1E L ALLH 1MHCR)|] R~ &HE 4.4 | B 3.7
IEES T HA1E —AWTH 080K | A~ &E 5.3 | I&H 4.8
S EES I AM1E BE™ 16H(N) | R~ &HE 8.5 | & 7.8
R EES I AM1E =IME BN ~BHE 6.3 | ~&H 5.4
EEEES 2147 ST Z=ZHEm] 4H(R)] A~ gHE 4.3 TBH 3.6
AlEES 217 I RS IHCN) | A RH 6.2 | A& 5.7
EES 217 EBLL AR 155H(B)] A~ &E 4.0 | B 3.4
56 |FF 217 B Eiima 2l | 23BN FEH 5.5 | & 5.1
57 |FF=% IIRZF ST ZZAEm] 1H(B)] A~ &E 10.0 | ~&E 7.8
TEES IIYZF I 1H(B)] A~ &HE 8.5 | A& 7.6
IEES IIYZF BLUTZRBERE [2680K] ~&E 9.6 | A& 8.5
60 [Hx IIYZF B HANEHET 12H(R)] ~&E 5.4 | & 4.6
61 [Hx IIYZF =IHE 2HON)] A~ gHE 5.4 | & 4.6
62 |Hx KDoAV B HANEHET 1TTHOK) A &HE 3.6 | & 2.8
63 |[FFR FoEO3IY  [EILT=HE 18H(CKR)| A~ &HE 5.5 | & 4.7
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BREETRFOMSEREER CGEHREXLZDXFHENSDNDA) 2/3
REHR - FR28ESB1H (B) ~FR28FE8831H (7K) (BAfT : A 9blb/kg)
=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (8F) | BIA134 (by9h134) 994137 (b994137)
64 [FF FoEOOY [BEE 31HOK) | A1EH 4.7 | A~EH 4.0
65 [FF K<k 8L Z A5 T 18H(KR)| A i&H 9.2 | &~%H 7.5
66 [FF K<k BB AR 28H(H)| A& 7.4 | ~%H 6.1
67 |[Fx K<k BLLh = HET 12H(&)| < &H 8.7 | A~%&H 7.1
68 [FF K<k EBLLIH FEEH BT 22H(B)| A& 8.2 | ~%&H 6.5
69 [ k¥ b 8L LI PR BT AH 26H(OK)| AEH 8.0 | A1&H 8.2
70 |[H KV b LS AILETZAEH] 10H0K) | A& 11.6 | ~#&H 10.4
[REES F X BB Z A5 3HOK)] AigHE 9.8 | A& 7.9
72 |Hx F X BLUmZEIHELL | 2HCK)|[ A &EE 13.9 | & 8.3
IEEES + R 81 L P BT AH 25H(K)| A1&EH 6.2 | A&EH 5.2
IMEES F X BT EXLBIREER | 10H0K) [ A&E 8.4 | A& 6.9
75 [Hx F X BT EXLBIREER | 10H0K) [ A&E 10.4 | ~1&H 8.2
ICEES F 2 BLUHEXLE/\LA| 8H(B)|] A~ &HE 7.8 | A %&H 6.5
EES —oIY =R 2H(ON)| A& 8.5 | A& 6.9
78 [Hx E—<v BLUmZEIRE [158(8)] ~EE 10.0 | ~&HE 7.9
79 [FFE E—<v EBLUTABIAE |[2580K)| F&H 8.7 | A& 6.8
80 [Hx =SZKkY K B LIThZ 150 1H(B)| A&E 9.5 | A& 7.6
81 [ il N EBLL A 15H(B)] A &E 6.2 | A&H 5.4
82 [FFx il g ESLLh = FHET 29H(BA)| A& 7.3 | A%&H 5.8
83 [ =SZkY bk ELHAHITAN  [298(8)] A &E 6.9 | A~&H 5.7
EES il NS B LmhEsLl 19H(£)| ~&H 9.5 | A&H 7.5
85 [Hx =S”KkY K LT EXLBIREE | 10H0K) [ A&E 8.7 | A~%&H 7.0
86 |[E¥¢ =SZkYhk HANE=FH] 16H(N)| A& 1.1 | A% 9.1
87 |Hx FOANAY (En) [BBIUTZEAIAE [ 24HOK) | A &H 13.8 | A%E 10.5
88 [k GtEk. BEA%) [FHEK BIUMZEERIE | 23BN A&EH 4.6 | ~MEH 4.0
89 [l -=nc¥E|xvAvUss o) |BLLUMHmEEI/E | 2H(B)] AMEH 10.8 | A& 8.8
0 [E-Fn2FE[=Z30A RERSE LLIET 29H(B)| A&HE 8.3 | A& 7.3
RNERERR 1 EERE: 8L ZHE ] 18H(K)| ~&H 1.1 | ~&E 9.3
CPNERERR 1 EERE: 8L ZHE ] 25H(R)] ~%HE 8.2 | A& 6.7
ENERERR 1 EERE: EBLL A 25H(R) [ A& 8.2 | A& 8.9
M NERERR:AEEPE) B LUTHFAHBIRER [ 9H(N)| AMEH 9.6 | A& 8.3
% [IE-FDOCFE[(Z30H ERLTHFAHITIRAR [ 30H(N)|[ A i&HE 11.2 | ~&HE 9.2
% [IFE-FDCFE[(Z30H EBLLTIFER 26H(K) [ AR 7.9 | A~%&H 7.3
97 [l -FTDCFE|=30A LS AILETILNR | 4HOR)| A4&H 8.9 | A&H 7.7
98 [IE -FDCFE[Z30H BLUAEALEREAR] 2B RNEH 10.7 | ~&HE 9.3
9 [IFE-FDOCFE[(Z30H LU/ \LLH 16H(N) | R~ i&HE 9.6 | A& 8.1
100 [BN%E FYX ERL TR =818 | 165 (X) 7.2 4.5 14.2 4.3
PIEES T X (5i) BB LT AT 1H(B)] A &E 8.3 | A~%&H 6.8
IPEES 1) 8L 3THOK)[ A &HE 7.1 | ~%&H 5.9
103 [EB= 1) ELHAHITAE [26H(2)] A&EH 5.5 | A& 4.7
TAEES oY) (#n) 8L 3THOK)[ A &HE 11.8 | ~&HE 9.0
105 [R= JRD BILUhZiElEll [ 228(8)] ~M&EH 6.7 | ~&H 5.7
106 [R= JRD BB LT AT 18H(K)| ~&H 5.8 | A& 4.8
107 [R= JRD LTS 17THOK) A &HE 9.8 | A&H 8.0
108 [R= JRD HAN A =ZH] 195 (2)] A~ &E 5.0 | A& 4.1
109 [R= 75y o — [BILHESH 9H(N)| " gH 8.5 | A& 6.8
110 [R= 725w oYU — [BILTHRIR 3HOK)| A~ &H 5.9 | A~ &H 6.2
111 |RE 7oy oR)— |BUmEALRENE| 12H(®)| AMEH 8.8 | A& 7.1
112 |R= 75 I BB LT AT 2HON)| g 7.5 | A~&H 7.3
113 [R= TIL—R— | ZZBAEN 2HON)] A& 7.5 | A~&H 6.2
114 [R= TJIL—_J—  |[\WbEm 12H(&)| ~&H 4.8 | A &H 4.3
115 [R= JTIL—RU— BT ZEE] 12H(&)| ~&H 6.8 | ~&H 5.8
116 [R= TIL—U—  [BILHAEX 260 (&) ~%HE 8.3 | A~%&H 6.9
117 [R= JTIL—_U—  [BBILTHIXH 1T7THOK) R~ &HE 8.6 | A& 7.0
118 [R= JIL—RU— BT = HE] 2H(B)| A& 5.5 | A~ #&H 4.8
119 [R= JTIL—_U— BBk LLE] 26H K[ AR 10.0 | ~&E 8.2
120 [R= JIL—~U— BRI FaHE] 22H(B)| A~1&HE 6.9 | ~&H 6.3
121 |R= JIL—RU— [BILHhE ALLHET 18H(AR)| Ai&H 7.1 | A%&HE 6.0
122 |R= TIL—RJ— [ NEF =] 12H(&)| ~&H 12.2 | ~1&E 9.8
123 |R= TIL— L= X LLH] 18H(AR)| Ai&H 8.4 | A~%&H 7.0
124 |[R=E TIL—> BLUAEXALENALA] 228(B)] ~&H 8.3 | A~%&HE 6.8
125 [&B=E £E BE™ 3HOK)| A& 5.9 | A~ %&H 6.7
126 |[R= >3 LR E A LLE] 31THOK) | Ai&H 11.5 | ~&HE 10.5
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BRHBHRFODMIERERR GFRRITDEXENSNDA)
REHR : FR8F8RA1H (B) ~Fr28F8H31H (0K)

3/3

(BT = A" 9Llh/kg)

=1 - = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (8F) | BIA134 (by9h134) 994137 (b994137)
127 [Zofk Bt 8L ZAERT 1 | 1H(B)|] A&H 6.1 | A~%H 5.2
128 [Zof Bt BLUFH <EFE [1THOK)|] ~EE 8.4 | A~ %&H 6.9
129 [Zof Bt EBLLI 7 = FHET IHCN) | A &H 6.4 | A&H 5.4
130 [Zfb Bt N N 15H(B)| A& 7.2 | &R 5.9
131 [Zof T~ (F) NaEhE L LIBT 29H(A)| A& 6.7 | A&H 5.6
132 [Zof Dok (B88) [FEZEm 23HCN) | A& 6.8 | A& 5.5
133 [H2TEEBRIEX [K (3XK) BB LT EHASTET 16H(N) | A& 5.0 | A& 4.1
134 [H2TEBRIEX [K (BX) BLUHAHITSSE [16BCN] ~EE 6.1 | A~&H 5.1
135 [H27TZEBRIEX [K (BX) BB LITh =FEHE] 4LH(R)] A igHE 4.2 | A &H 3.5

X RHRFEREE “TRE” ERRo

SEFEEM @ BT



